SN HgEAED
HEdaY dHBS(MIEX/ES -
=]

o —

X ZH -
S =

o o
g dFFRIIE 1= L HdsgHE N

2 5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
HAEEAGEIIE N 74,109,928 64,577,952 9,531,976
= 14,789,033
Fag 7,398,000
J| 33,589,988
= 18,332,907
A dHTE(MIEX/EE - HELHA) 9,884,720 7,846,087 2,038,633
= 59,558
J| 5,343,205
= 4,481,957
AFERIIE 2 L dsEe X 2,092,416 1,162,428 929,988
HEd™zH =X 99,300 171,484 NT2,184
201 Bt A H| 26,000 26,350 A 350
01 AP 22l Hl 26,000 26,350 A 350
OWMEE 29 26,000
202 04| 6,800 6,800 0
01 2L A bl 6,800 6,800 0
OWENZ &= =X 6,800
203 €2 F & 5,000 5,000 0
03 Al =X 2= X H| 5,000 5,000 0
OHEAEAYE AlMAR =& 5,000
308 XX EMSO0IA 61,500 63,334 AN 1,834
01 XS IABEXRS 61,500 63,334 N 1,834
OHOIX 2AISESE L SNBE NSAIY 10,000
oddli2s=EXNdE 2= 31,500
OWAEAHRLIEIMEH &4 T2 29 20,000
St=2=04ded 29 1,000,000 800,000 200,000
306 =2 1,000,000 800,000 200,000
01 &3 1,000,000 800,000 200,000
Ost=20E4+dd 29 1,000,000
S22 ANE B 599,100 0 599, 100
403 XX SHHS K201 ™ 599,100 0 599, 100
02 2| 2SO LS A=2E R E AN HI 599,100 0 599, 100
OS24+ Ad82d 2 Sl 599, 100
AMNZIEXI|2 - Al 829 =X 394,016 190,944 203,072
307 2I2t0| & 213,640 34,560 179,080
11T A EXAIEEX 213,640 34,560 179,080
T A SXII2 SAXN ARIHE % 122,400
T A SXNAE SAMN SIS 91,240
308 XX EHMSO0IA 180,376 156,384 23,992
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A
X XH -
(=

S

PEE-PNEP/E-
GlEFMI

i

AHES(MIEXN/ES - II=ELAHY)
SFF30IE 25 2 HdsdHe N

5 5 SJE
M -Z3H-4A(3A) - NREAY - BES Off &F 4 a&% Hws2

PN EFEES 180,376 156,384 23,992
ONZ MIZXAE SAK =X+ 141,376
OANT AMBIZXIIZ SAK HEHLS4Y 39,000

Ol&ol AIBIEO S0 % 2 147,053 140,176 6.877

ol 2is =X 64,483 54,543 9,940

201 Yt | 20,100 21,000 900

01 AlR 221 H| 2,100 3,000 900
OMAAS Y MARES 2 2,100

03 #AtE | 18,000 18,000 0
OMIATA A AlRHA 18,000

202 01H 4,383 4,383 0

01 =LH o4l 4,383 4,383 0
oMgAALISHSE BE =T 4,383

308 XHXI £ X SOl & 40,000 0 40,000

P EP RS 40,000 0 40,000
OLBNY NS & HY A2 S5 40,000

FHBES Il A 32,570 45,633 A 13,063

201 Yute | 2,570 3,633 A 1,063

01 At 221 H| 2,570 3,633 A 1,063
OXgr2E LANMEL L LAE BS254 1,100
OYHBST2 JIE#A X8 1,470

307 £12+0| & 30,000 42,000 A 12,000

11 AFBI =R AIE 2 X 30,000 42,000 A 12,000
OLHBSH2 JEHA X8 30,000

Ol & ABIZ O X 40,000 40,000 0

307 12+0| ® 40,000 40,000 0

03 LAY S A EE 40,000 40,000 0
OLEZOHLHE S 29 X 40,000

Of& At3IE0I 243t 10,000 0 10,000

308 XHXI A S0l ™ 10,000 0 10,000

01 HXEHAAE RS 10,000 0 10,000
OOA ABIEO 43 10,000

OlAES L oY 7,645,251 6,543,483 1,101,768
=2 59,558
p] 5,343,205
< 2,242,488

OlgZagy 23U 6.750 7,180 430

201 Y | 1,100 1,530 430
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SN HEEAEIIED
Ha: E™MY YYBS(MIASN/2S - HEL0HY)
CHelr GHAEE U oY (e @
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
01 AR 22l 1,100 1,530 £430
OCHAUZTAL ZANDE 2% 1,100
202 01t 2,550 2,550 0
01 =L 01 bl 2,550 2,550 0
O0SAAST MY =X 2,550
301 LEEAZ 3,100 3,100 0
09 B AHAIHI X 2 3,100 3,100 0
ONNAASTAL BANDS 29 3,100
GERASTAL 2¢ N 165,432 143,189 22,243
308 XHXI €M S0/ ® 165,432 143,189 22,243
01 HXSHILERS 165,432 143,189 22,243
ONEAUSTAL 28 N 165,432
HEAHASTAL 2 N (HE) 112,200 103,870 8,330
307 212401 & 112,200 103,870 8,330
N CEEEETEES 112,200 103,870 8,330
OCHAUSTAL 28 N 112,200
GEE2ALS SAIIE ASX A (2E) 18,000 18,000 0
307 212+01 & 18,000 18,000 0
11 AE ST 25 18,000 18,000 0
O&ZAT e FDINE ASX 18,000
GlEZATGH 20T ASIX 4,800 4,800 0
308 XHXIEHHI SO0 ™ 4,800 4,800 0
01 HXSHILERD 4,800 4,800 0
O&ZT N SDIIE AS X 4,800
GiH2ASH 1366ME SIXH(2D) 699,858 631,980 67,878
| 349,929
= 349,929
307 212401 & 699,858 631,980 67,878
| 349,929
= 349,929
11 AE ST AY 2 X 699,858 631,980 67,878
O0H2AS TG 1366ME SY X 699,858
| 349,929
= 349,929
GlE2S S 13666 E JSEL(2) 14,000 14,000 0
| 7,000
= 7,000
402 QIR 20| & 14,000 14,000 0
| 7,000
= 7,000
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A E8EAEIIF Y
HE: HAFYD SYFS(AMAZX/2S - HEL0H)
Ol GHQIAEE U oY EER-E
- _ d L4
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
02 CIZIXIE AL EX (0| XM TH) 14,000 14,000 0
OWHE2SESE 13664H JlsEY 14,000
J| 7,000
== 7,000
Y Zs AGA 29X (=21D) 1,027,369 961,194 66,175
J| 856, 140
c 171,229
308 NXIEMSOA 1,027,369 961,194 66,175
J] 856, 140
c 171,229
01 AIXSHMABAABEEXZS 1,027,369 961,194 66,175
OJId=ZY Agas 2N 1,027,369
J| 856, 140
= 171,229
IIEZS IiolAt ESAE 29K (=21) 944,510 821,569 122,941
J| 878,575
= 65,935
308 XX SHHMSO0IA 944 510 821,569 122,941
J| 878,575
= 65,935
01 AIXHMMBAEXZ 944 510 821,569 122,941
OJIEZH TolAt ESAlE 29X 816,581
J] 752,115
c 64,466
OJIEZY Tkt ESAIE Hl =2 MAHY| 50,034
J| 50,034
OJIEZH oA A=A 12,895
J] 11,426
c 1,469
OJIAE=< It NEHEZ 65,000
J| 65,000
IR =S QoA ESAAE s (=21) 35,625 35,812 N 187
J| 23,750
== 11,875
403 XX SHHS K201 ™ 35,625 35,812 N 187
J| 23,750
== 11,875
01 RAIXSHIEExR 35,625 35,812 N 187
OJIEZH MoKt ESAE JsE22 35,625
J| 23,750
= 11,875
ZANNOS FHXNE SYNS(21) 34,491 32,548 1,943
J| 28,560
== 5,931
308 XX SHHMSO0A 34,491 32,548 1,943
J| 28,560
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SM: HEHAEIIEY
Hu: GAFYD YEBS(MIEX/2S - HEL0Y)
Sel: HAES U 0 (cHol: &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ol &4 a&% Hws2
= 5,931
0l RSB RES 34,491 32,548 1,943
O=AMWHOL NN 2FN 33,611
ol 27,680
= 5,931
OZAWHOHA NN AWBES 880
p] 880
Y= DK ABES TR U o2H X 149,429 146,918 2,511
22)
p] 132,406
= 17,023
308 X+XI EH 7 S 01 & 149,429 146,918 2,511
p] 132,406
= 17,023
0l RHXSHANRES 149,429 146,918 2,511
ONFES WK NBES T2y 115,087
p] 101,932
= 13,105
ONEE=A W 2= 34,392
p] 30,474
= 3,918
JFHE OGN DHIST2IY 29(2 1) 48,201 48,201 0
p] 42,710
= 5,491
308 X+XI EHAI S 01 & 48,201 48,201 0
p] 42,710
= 5,491
01 RXSHAANRES 48,201 48,201 0
ONFEES JISHN DEART2IY 29 48,201
p] 42,710
= 5,491
=AM 0IF0L AL 2HXRA(2D) 236,886 0 236,886
J| 157,924
= 78,962
308 XXl EH A S 01 & 236,886 0 236,886
ol 157,924
= 78,962
01 R SHBA2ES 236,886 0 236,886
OZAMH 01F04 N2 SN 236,886
p] 157,924
= 78,962
ZAMG 01F04 25AE SYNA(2D) 221,745 175,335 46,410
p] 184,378
= 37,367
308 X+XI EH Al S 01 & 221,745 175,335 46,410
p] 184,378
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A E8EAEIIF Y
Hz: MY YHES(MIIZEXN/ES - IISLHAY)
ool olMoIABE U ol CEEREE
. 4
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
= 37,367
01 AIXSHMABAAEXZ 221,745 175,335 46,410
OZIlol 0IFHAE BESAE 2N 211,745
J| 174,378
= 37,367
OZ2Ilol 0lF=HAHE BESAE EAX XAEAH
= 10,000
J| 10,000
ZATIGH OIF0HAE BESAE JIsE22(=21) 4,250 4,250 0
J| 3,500
== 750
403 XX SHHS K201 ™ 4,250 4,250 0
J| 3,500
== 750
01 MXSHX2E X 4,250 4,250 0
OZ=IdH 0l ESAE JisE2 4,250
J| 3,500
= 750
olHtetD|dE 29X (=21D) 2,279,886 1,983,007 296,879
J| 1,595,920
= 683,966
307 Q120 & 2,279,886 1,983,007 296,879
J| 1,595,920
= 683,966
11T A EXAIE E X 2,279,886 1,983,007 296,879
OolidtetIldEyeH 29X 2,279,886
J| 1,595,920
== 683,966
oHHIZIDIME DJIsEY XK (=21D) 99,790 32,000 67,790
J] 49,895
c 49,895
402 QI2FAHE0| & 99,790 32,000 67,790
J] 49,895
o 49,895
02 CIZIXIE A E X (01 ™ THEA) 99,790 32,000 67,790
OdibtellI A JiseEd X 99,790
J| 49,895
= 49,895
SZE oA H2AY - S2H2 - 202 N (=2 190,000 182,480 7,520
D)(AH)
J| 133,000
= 57,000
307 2I2t01 & 190,000 182,480 7,520
J| 133,000
= 57,000
11T A EXAIEE X 190,000 182,480 7,520
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FH HdFEAEIF
M MY dHBS(MIAEX/ES - HFLNY)
ool olMoIABE U ol CEEREE
2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
CEEENE PO =y === T
| & 190,000
J| 133,000
< 57,000
H=8 AddA 292 (=221) 241,377 148,578 92,799
J| 201,147
< 40,230
308 XFXIEHHI SOl E 241,377 148,578 92,799
5] 201,147
& 40,230
01 HXHHBLEXS 241,377 148,578 92,799
O&d=y dEAx 2IEXA 241,377
b] 201,147
= 40,230
Zofe 4= Adh 2HRE(=22) 132,021 122,383 9,638
J| 88,014
= 44,007
308 AUXIEHSOIA 132,021 122,383 9,638
J| 88,014
= 44,007
01 HXESHILAEEXS 132,021 122,383 9,638
O 4= 4gL 2HAE 132,021
J| 88,014
& 44,007
H=Z IToilk BESAIE 2R (=1) 170,749 155,290 15,459
J| 142,139
= 28,610
308 UXIEHSOIA 170,749 155,290 15,459
J| 142,139
= 28,610
O1 IXESHBHEXS 170,749 155,290 15,459
OdEZYIi X E3AE 29 N 162,122
J| 133,512
< 28,610
OHZZIoIX E3AI4 Hl==2 A M4AHY| 8,627
J| 8,627
HEZ Dol 2aA4 JsE2d(=21) 900 1,530 A 630
J| 600
= 300
403 X SHH S 201 H 900 1,530 A 630
J| 600
= 300
01 X EX A2 E = 900 1,530 A 630
OdZEHIX BEsAME JIsEL 900
J| 600
S 300
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SN 0 EAEIED
Hu: UL SHPS(MIASX/ES - ISL0Y)
Sol oMo E U oY CEREE]
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
HE2 MK XN =T IA(2D) 40,876 40,876 0
J| 36,220
= 4,656
308 XXl € XS0l & 40,876 40,876 0
p] 36,220
& 4,656
01 A SHBARES 40,876 40,876 0
OMZAMHR X2 - 5=T20 40,876
p] 36,220
= 4,656
M= DahR A2 - 2EH NR(2D) 64,724 64,724 0
p] 57,350
= 7,374
308 XHXI €A S0l & 64,724 64,724 0
I 57,350
= 7,374
01 RXISHBARES 64,724 64,724 0
OMZAMHA 228 - 2 N 64,724
J| 57,350
& 7,374
SUMIHA NBAE 2 484 22(21) 329,032 221,128 107,904
p] 249,942
= 79,090
308 XHXI € &I S 0l & 329,082 221,128 107,904
I 249,942
= 79,090
01 HXSHBARES 329,032 221,128 107,904
OMUHIHTIHR XRAE 29 194,996
gl 160,585
= 34,411
OMOHONTHGH R A4 29 134,036
p] 89,357
= 44,679
SOHOHTIHR REXH (2 2) 73,629 73,629 0
p] 60,636
= 12,993
308 XHXI €A S 0l & 73,629 73,629 0
p] 60,636
= 12,993
0l HXESHBARES 73,629 73,629 0
OSHHIIHT REXS 73,629
ol 60,636
= 12,993
SOHOHTIGH A XIFAIE JIsE2(=21) 2,205 26,116 A 23,911
b] 1,470
= 735
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SN HEEAEIIED
o AN YUBS(MASX/2S - HSL0L)
Sl MoIARE U oY (el &
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
403 RIS H S =0l & 2,205 26,116 £23,911
J| 1,470
= 735
01 RtXISHH A2 8 X 2,205 26,116 £23,911
OSMMIAT XA Js2Y 2,205
| 1,470
= 735
SON0) DIGHOIS - BAW NRAME 2T & (22)( 124,000 124,000 0
5y)
| 62,000
= 62,000
307 21210 & 124,000 124,000 0
| 62,000
= 62,000
11 ABI = XA B E 124,000 124,000 0
OO TEHOIS - HAE XAME 2K & 124,000
| 62,000
= 62,000
HOj OIS - AW & AARDS(21D) 40,000 40,000 0
2 20,000
= 20,000
307 21210] & 40,000 40,000 0
2 20,000
= 20,000
11 ASI =S XA B E 40,000 40,000 0
OOHOIS - BAH & DS 40,000
2 20,000
= 20,000
ROt 22N YRS 2Y (1) 79,116 79,116 0
2 39,558
= 39,558
307 212H0| & 79,116 79,116 0
2 39,558
= 39,558
11T A SXAIE 2 2 79,116 79,116 0
OO0t 220 YDS 2 79,116
2 39,558
= 39,558
5NN AFO ST WYDS 4,400 6.300 A1,900
201 YEr 2 bl 4,400 6,300 A1,900
01 AR 22l 4,400 6,300 A1,900
04 NN BES S olYDS 4,400
ool HE2 Mg ISEY N 39,000 0 39,000
403 RIS H STH= 0l & 39,000 0 39,000
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M HEdEAEII =N
A HddNY LHBS(ASN/ES - HEL0 Y
€2 g AES 2 e

2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
01 XA =L = 39,000 0 39,000
oM 4= 482 Js2H N 39,000
O o™ Z2LIHE At 10,000 10,000 0
308 AUHXIEHSOIA 10,000 10,000 0
01 HXESHILAEEXS 10,000 10,000 0
Oy o™ 2LIHYE At 10,000
Ch2st 228 XN (ASSX/ES - II5L0HY) 49,562,253 40,559,711 9,002,542
= 14,216,990
s 7,398,000
J| 21,150,893
& 6,796,370
Ch23tE S Ae 78 2,609,118 2,500,293 108,825
J| 2,045,212
= 563,906
2% & 2208 XJ UWERIA += 7,325 7,325 0
201 24| 3,100 3,100 0
01 At 22l 3,100 3,100 0
otzs & AZIHE N& UHERIT 5 2¢ 3,100
202 o4l 4,225 4,225 0
01 =LA HI 4,225 4,225 0
ottzst & AZIHE XN HWESRIT =5 &3 4,225
e =00 & O20tE NE g2z 29 2,600 3,800 A 1,200
201 B2l 2,600 3,800 A 1,200
01 At 22l tl 2,600 3,800 A 1,200
O2=ol=0 2 C23HE X g2s 2,600
CG23tE IEoler =4 11,200 11,196 4
308 AUXIEHSOIA 11,200 11,196 4
01 HXESHBILAEXS 11,200 11,196 4
ZE0/2UX &5 HEZH A 11,200
MAQISl & J1& &AL 32,310 32,310 0
307 212+01 A 24,210 24,210 0
1A SAAEEX 24,210 24,210 0
OMHAHS & J1E A 24,210
308 XXM SO0l & 8,100 8,100 0
01 HXESHHILEXS 8,100 8,100 0
OMACIel & I8 A &FOtHI 8,100
G233t MalsSe A& 101,420 99,176 2,244
308 UHXIEH S0 101,420 99,176 2,244
01 HXESHILAEEXS 101,420 99,176 2,244
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SA HdEAENZD
M 25 A28 N2 (MEEXN/ES - IIEL0HY)
@2 OEas SEME 2 (et
% 5 SIE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
OUI23 JIEXY 20| X 44,920
oCt23 244 Olgga T2 20,000
OCtYst JHE OIS AFY 12,500
ottes OI2XI® (S84 12,000
OCt23t XA A 2clta 12,000
23t S3tAI (2 2) 2,454,263 2,314,086 140,177
Jl 2,045,212
-3 409,051
308 XHXI M S0l & 2,454,263 2,314,086 140,177
Jl 2,045,212
-3 409,051
01 MHXSHBAEES 2,454,263 2,314,086 140,177
OLI23IIE Y2NKIUTA X 945,449
Jl 787,872
S 157,577
OC23ItE Atcll &2l At XA 236,610
Jl 197,175
-3 39,435
OZE0I2X SHAXZAMN X 514,967
Jl 429,138
= 85,829
OLI2EIIE AULLXUZA X 387,643
Jl 323,033
-3 64,610
OL23IIE 0ISAAHZ A K& 183,294
Jl 152,744
S 30,550
OZEO0IYR ALK 186,300
Jl 155,250
-3 31,050
GessxAME 29 13,043,896 9,816,762 3,227,134
z 7,398,000
Jl 3,343,250
S 2,302,646
LACUH2INENY HEMH 29 126,000 131,400 A5,400
307 gl2tol & 126,000 131,400 A5,400
1 ASISRAY R & 126,000 131,400 A5,400
OYAT LI23INEXNV HEME 29 126,000
ALNHULSHNENAME 2 116,916 88, 126 28,790
308 XX SHAIS Ol & 81,916 80,626 1,290
01 ISP EES 81,916 80,626 1,290
OHLINFURIHINEXNEME 22 61,040
OUZaItEs 2SN AF HRIMH 20,876
403 XX A S X 20| 35,000 7.500 27,500
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SN EEAEIIED
HE: O2e A28 N (AMIEX/ES - IIEL0E
&2 GERaEXNJHH 29 (et
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
01 XX EHH A2 2= 35,000 7,500 27,500
OULINEL2INEXNZME JsES 35,000
A20E 2 O230tE XNJME 29 (=2)(8E 42,700 42,300 400
J| 21,350
< 21,350
307 glz2tol & 42,700 42,300 400
J| 21,350
< 21,350
11 A SRS EE 42,700 42,300 400
OZAZURHIINENE HNEHH 29 42,700
J| 21,350
< 21,350
22018 9 U=2as XNWE 22 (=21) 3,986,280 3,651,936 334,344
J| 3,321,900
= 664,380
308 XFXIEHHI SOl ™ 3,986,280 3,651,936 334,344
J| 3,321,900
= 664,380
01 HXHHBLEXS 3,986,280 3,651,936 334,344
OHZIE - e IIEXNAEEH 29 3,986,280
J| 3,321,900
= 664,380
JIsHE A8 (=22) 8,772,000 5,903,000 2,869,000
s 7,398,000
< 1,374,000
403 XXM SA=201 A 8,772,000 5,903,000 2,869,000
s 7,398,000
< 1,374,000
01 RXIEH A2 E = 8,772,000 5,903,000 2,869,000
OJ=EHEH HE 8,772,000
s 7,398,000
= 1,374,000
ALNHE 2 =4 16,402,354 16,210,598 191,756
= 14,216,990
J| 548,460
= 1,636,904
ZEE IR 245 4,760 6,800 A 2,040
201 24l 4,760 6,800 A 2,040
01 At 22l bl 4,760 6,800 A 2,040
OZ3E& II=Eds 45 X 4,760
OlolE8 224y NE2I9(=22)(2E) 586,666 350,000 236,666
= 293,333
& 293,333
307 I+l A 586,666 350,000 236,666
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HEHAEHISD
Ct2sh 22018 X2 (MISX/ES - L0 L)
2208 28 &4 (et
% 5 SIE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
= 293,333
-3 293,333
1 ABIS XA 2 X 586,666 350,000 236,666
O0l0ISE ZAMEH B2 586,666
=2 293,333
S 293,333
Ol0ISE XA (2D) 14,778,316 14,972,193 193,877
=2 13,611,607
S 1,166,709
308 XHXI &R S0l & 14,778,316 14,972,193 193,877
=2 13,611,607
S 1,166,709
01 IXSHBAEES 14,778,316 14,972,193 193,877
O0l0ISE X & AY 14,778,316
2 13,611,607
-3 1,166,709
ZSS0LEH 29(22) 658, 152 571,657 86,495
Jl 548,460
S 109,692
308 XtXI IS0l & 658, 152 571,657 86.495
Jl 548,460
= 109,692
01 MXSHBAEES 658, 152 571,657 86,495
0O3s=s0ltsH 29 658,152
Jl 548,460
=S 109,692
IEYAS NAY(2D) 374,460 302,748 71,712
2 312,050
3 62,410
308 XX EHAIS Ol & 374,460 302,748 71,712
2 312,050
-3 62,410
01 HXSHBAEES 374,460 302,748 71,712
O=EsdEds XE ALY 374,460
=2 312,050
S 62,410
SRS Y XX 17,506,885 12,082,058 5,474,827
Jl 15,213,971
S 2,292,914
HNAS 220ty Maory X 384,251 548,930 A 164,679
308 XHXI £+ S0l & 384,251 548,930 164,679
01 IXSHHMBAEES 384,251 548,930 164,679
ONAS 8220tY MEoty X 384,251
&2 - 2% HEJ2 29(2D) 67.800 51,760 16,040
Jl 33,900
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FH HdFEAEIF
Ha: 023 ALY NV (MASX/2S - HEL0S)
Ol BERIIE FM =3 EER-E
2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
S 33,900
307 glz2tol & 67,800 51,760 16,040
Il 33,900
= 33,900
11T A SRS EE 67,800 51,760 16,040
o0lel - BX HEJI2 29 67,800
J| 33,900
= 33,900
HAUSER 0ls2s ¢ NEAIAAMG(S1) 176,400 151,285 25,115
J| 168,000
= 8,400
308 AUXIEHSOIA 176,400 151,285 25,115
J| 168,000
= 8,400
01 HXESHBILAEXS 176,400 151,285 25,115
OFAHERE XIEX& 176,400
J| 168,000
< 8,400
SIRRIE otssH S XNJ(21) 16,731,000 11,069, 820 5,661,180
J| 14,872,000
& 1,859,000
308 AFXIEHHI SOl ™ 16,731,000 11,069, 820 5,661,180
J| 14,872,000
= 1,859,000
01 HXHHBLEXS 16,731,000 11,069, 820 5,661,180
OSF2IE Ots2 = & X 16,731,000
J| 14,872,000
= 1,859,000
SIRERIIESEXAE LAX & - ASXNA(=21D) 17,200 0 17,200
J| 14,333
< 2,867
308 AUXIEHSOIA 17,200 0 17,200
J| 14,333
< 2,867
01 HXESHILAEXS 17,200 0 17,200
OSRIINE=EXNANE 2R A4EIIZXH 17,200
J| 14,333
& 2,867
SHERIIE YU =AHAXNR (2 1) 66,300 0 66,300
J| 66,300
308 UHtXIEHH S0l A 66,300 0 66,300
J| 66,300
01 HXESHBILEXS 66,300 0 66,300
OSRZ2IIE=EXNAE LU= =HIA 66,300
J| 66,300
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SN EEAEIIED
HE: O2s A28 N (AMIEX/E=S - IEL0Y)
Ol BERIIE FM =3 EER-E
2 5 4 14
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
SIRERIIEEXAIE Olols8MEA X3 (=1) 34,996 0 34,996
J| 32,233
= 2,763
308 X EHSOIA 34,996 0 34,996
J| 32,233
& 2,763
01 AXEHBAELS 34,996 0 34,996
OSRZIIE=EXAE OOl MElA X 34,996
| 32,233
= 2,763
SIRRIIESIAE MI=RRA 2124 NA(=212) 18,540 0 18,540
| 18,540
308 XXIEM SO0l & 18,540 0 18,540
| 18,540
01 AXNEHBLEEES 18,540 0 18,540
OSREZIIEEXNANE M= 1A 18,540
| 18,540
SIRRIIESXAE JIsEB2AE(=21) 10,398 208,463 A 198,065
| 8,665
= 1,733
403 XSS X201 H 10,398 94,680 A B4,282
| 8,665
= 1,733
01 AtXICHM A28 10,398 94,680 A 84,282
OstRZIIE=ZXNANE JIsEH 10,398
| 8,665
= 1,733
Olch & EAYE L (AMIEX/cQ - FAH) 14,629,523 16,138,722 21,509,199
= 512,485
| 7,095,890
< 7,021,148
dad 54 T8 29 2,507,357 2,290,208 217,149
= 444,100
J| 587,224
= 1,476,033
FAaEssd gty =2 16,295 18,845 A 2,550
201 LBeH24EH| 9,095 11,645 A2,550
01 At 22l tl 9,095 11,645 A 2,550
OFaAEUSY LEYR FA 3,145
O A2 FaHLE A& 5,950
202 O4dl 7,200 7,200 0
01 24 01 bl 7,200 7,200 0
OFAUSY PR FA 7,200
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SA HdEAENZD

Hz: Ol A HAE L (Al2ISX/E0 - HA4)
e AW 4 D) 29 G-
- L=
SN E S (3H) - MEAY - BAES Ol &F o8 dE & HR=2
O &F o8

NEHAEHEHI PR 2Y(=21D) 25,200 25,200 0
J| 25,200

308 XX SHHMSO0A 25,200 25,200 0
J| 25,200

01 AIXSHMBAEXZS 25,200 25,200 0
OXNEHAEENHI P SH 25,200
J| 25,200

HAEUXNESA BHXI XK (=Z21D) 523,024 520,648 2,376
J| 523,024

308 XX EHMSO0IA 523,024 520,648 2,376
J| 523,024

01 AIXSHMABAAEXZ 523,024 520,648 2,376
OB24dHAE HFAUXZAF BEXI 523,024
J| 523,024

HAENSEOY N (=Z1D) 107,625 107,625 0
= 86,100
== 21,525

308 XX EM SO0l & 107,625 107,625 0
= 86,100
== 21,525

01 AIXSHMABAABEXZS 107,625 107,625 0
OFAHE HEEOtE XA 107,625
= 86,100
= 21,525

HFAESOo2 XK (=) 98,750 98,750 0
= 79,000
= 19,750

308 XX SHHMSOIA 98,750 98,750 0
= 79,000
= 19,750

01 AIXSHMBAEXZS 98,750 98,750 0
OFEAHE =0t2] XA 98,750
= 79,000
== 19,750

OEEAE PAMSE X (2D) 334,800 298,440 36,360
= 279,000
c 55,800

308 XX EHMSO0IA 334,800 298,440 36,360
= 279,000
= 55,800

01 AIXSHHMBAAEEXZ 334,800 298,440 36,360
OWEEAY BAHAAMEE X 334,800
= 279,000
= 55,800
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e B EE-PSEDE
Hu: 0 8 HAW SA(MSZX/0 - HAW)
Cel: HAUES U MG S (cHol: &8
2N -3 - (3H) - NHEAMY - BE= Ofl &F o ﬁlgi Hws2
HAUES U HE BS 9,300,776 8,351,514 949,262
= 68,385
p] 6,508,666
& 2,723,725
SmE oY TR 29(2D)(NE) 68,712 62,746 5,966
ol 68,712
307 212H0| & 68,712 62,746 5,966
ol 68,712
I EEEREEE: 68,712 62,746 5,966
OSNEY HYT2IY 2 68,712
bl 68,712
SDEY HYT2I0Y 2E(21) 85,302 83,979 1,323
p] 85,302
308 XX S S0/ ™ 85,302 83,979 1,323
gl 85,302
R L ERCES] 85,302 83,979 1,323
OSDE HYT2IY 29 85,302
I 85,302
QIEUES MGASA HX(2D)(HE) 71,180 70,148 1,032
= 35,590
= 35,590
307 QI2+0| & 71,180 70,148 1,032
= 35,590
= 35,590
I EEE: 71,180 70,148 1,032
OUEHUSS MYMSA HIIAY 71,180
= 35,590
= 35,590
QWSS MGAGA X (2D) 17,795 17,537 258
= 17,795
308 XX SHH S0 ™ 17,795 17,537 258
= 17,795
01 X SHBA2ES 17,795 17,537 258
OEUES HLYMA X AL 17,795
= 17,795
HAUMD=TME N 462,055 487,620 25,565
307 QI2+0| & 444,055 463,350 £19,295
eI EEEETIEE: 386,455 363,000 23,455
OF HAUMNYSTME 29 386,455
11 ABI =S TIA Y 2 5 57,600 100,350 A42,750
OF HAEMNYSTME AL 57,600
403 XHXISHH S XHE 0l ™ 18,000 0 18,000
01 XX SHAI R 2 2 = 18,000 0 18,000
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A

HEFEAEINSF

ni
HE: Ol & oY H(MIISX/0 - H3ad)
o9 HAUES U NG BE EER-E
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET

oOFAENY 2= 394,876
b] 197,438
= 197,438

HAHONMY JAx(F D) 650,885 647,355 3,530
J| 650,885

308 AUXIEHSOIA 650,885 647,355 3,530
J| 650,885

01 HXESHILAEEXS 650,885 647,355 3,530
OFAENNY AX 650,885
J| 650,885

Faday 2N (=2)(EE) 1,975,594 1,760,898 214,696
J| 987,797
= 987,797

307 212+01 A 1,975,594 1,760,898 214,696
J| 987,797
= 987,797

10 ALSISXAIEHE2IGHIEX 1,975,594 1,760,898 214,696
oOFa~dEH 2 1,975,594
J| 987,797
= 987,797

HAUEH 2SN (21) 681,860 384,165 297,695
Il 568,217
< 113,643

308 A EHSOIA 681,860 384,165 297,695
J| 568,217
= 113,643

01 HXESHBILAEXS 681,860 384,165 297,695
OFaxdHEH 2 681,860
J| 568,217
& 113,643

Faday 48449 GEXN+2H(ZD)(HE) 18,000 15,600 2,400
J| 9,000
= 9,000

301 LB EZ 18,000 15,600 2,400
J| 9,000
= 9,000

01 AHSIE & X %53 18,000 15,600 2,400
odAUEH EAad3AE NEXNEE 18,000
J| 9,000
< 9,000

AUl JISEY(2D)(RE) 8,000 0 8,000
J| 4,000
& 4,000

402 RIZERr20| ™ 8,000 0 8,000
J| 4,000
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M HdEAE

=

=
HM: Do) 8 BA
I

G MAHES L A 2SS (cte: &
EH -3 -A(3H) - AEAMY - BES Oil AF OH %-Illf*i Hunsz

= 4,000

02 QIZEXI 2 AL B X (0l M THEA) 8,000 0 8,000
OFA2HEH JIsEZAL XA (212)(2E) 8,000
| 4,000
= 4,000

FAEEH JIsE22(=21) 5,000 0 5,000
| 5,000

403 AtXISHMS K201 A 5,000 0 5,000
| 5,000

01 XIS A28 5,000 0 5,000
OHAUEH Jls22AY X (=21) 5,000
| 5,000

HAESKAIE = 290 N (HE) 261,000 0 261,000

307 @I2t0| & 261,000 0 261,000

1 A2 S RALSE 2 261,000 0 261,000
OFHAEUEXAIE = 294 NS (2H) 261,000

HAEUHISEE 29 (22)(2F) 321,652 311,724 9,928
| 160,826
= 160,826

307 212+01 ™ 321,652 311,724 9,928
| 160,826
& 160,826

11 AIS SXAEEXR 321,652 311,724 9,928
OHALAHULERSEEH 22 321,652
| 160,826
= 160,826

HAEUSH23MEH 29 (=212) 160,826 155,862 4,964
| 160,826

308 XXM SO0l 160,826 155,862 4,964
| 160,826

01 IXNEHHBAEEEXS 160,826 155,862 4,964
OFALEUHLR2SHEYH 29 160,826
| 160,826

HAEUHISIEE wi - w7 wH XA (=21) 5,000 2,500 2,500
J| 5,000

402 212t X201 ™ 5,000 0 5,000
| 5,000

02 QIR 2 AL E X (0l M THEA) 5,000 0 5,000
OFLEUL2SHEH T Wil X 5,000
| 5,000

HAEE NS00l 2E(22)(HE) 232,688 229,588 3,100
| 116,344
= 116,344
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A HAEAE)

M Ol & &

B M

Col: HAUES U MG BE (69l @
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
307 glz2tol & 232,688 229,588 3,100
J| 116,344
= 116,344
11 AR SAAEE X 232,688 229,588 3,100
odAE &= 0t3t00l 29 232,688
J| 116,344
= 116,344
HAHSNSOIIHO 22 (=21) 1,763,209 1,818,197 A 54,988
J| 1,763,209
308 AUXIEHSOIA 1,763,209 1,818,197 A 54,988
J| 1,763,209
01 HXESHILAEEXS 1,763,209 1,818,197 A 54,988
odAE Z=0t3t0I0l 29 1,763,209
J| 1,763,209
FAURolSIZAE X 29,556 27,408 2,148
307 2I2+01 A 29,556 27,408 2,148
1A SAAMSEEX 29,556 27,408 2,148
02 FardRoiaI A AH N2 29,556
HAERMEZ 2AE N (F2)(HF) 8,000 8,000 0
= 4,000
< 4,000
307 glz2tol & 8,000 8,000 0
= 4,000
< 4,000
11T A SRAEE X 8,000 8,000 0
OFAERMNEE ALY XA 8,000
= 4,000
= 4,000
Fiodgolatd 2AS N3 (=2) 13,200 13,200 0
= 11,000
= 2,200
308 AXIEHSOIA 13,200 13,200 0
= 11,000
< 2,200
01 HXESHBILAEXS 13,200 13,200 0
OFadRoiard A XA 13,200
= 11,000
& 2,200
stw 8 Had XJA(=2)(HE) 242,026 239,580 2,446
J| 169,418
& 72,608
307 I+l A 242,026 239,580 2,446
J| 169,418
= 72,608
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M HdEAE

M Ol & &

B M

Oel: HAUES U NE BE EERET
EH-EH .S (3H) - HEAY - BAR Ol &k ﬁgi HZ=2
I NEEES 242,026 239,580 2,446
o8t % HAW X 242,026
p 169,418
= 72,608
S % HAW XV(2D) 875,685 836,572 39,113
p] 875,685
308 Xt Xl & X SO0 &® 875,685 836,572 39,113
p] 875,685
01 RXSHBAEFZ 875,685 836,572 39,113
ostm % HaW X 875,685
b 875,685
3D % FAE XNV(SA)2D)(RE) 5,262 5,262 0
p 2,631
= 2,631
307 212+0| & 5,262 5,262 0
p] 2,631
= 2,631
I CELNEEES 5,262 5,262 0
08D % HAE XA (SA) 5,262
p] 2,631
= 2,631
S % HAE XA (SA)(2D) 49,300 49,300 0
p] 49,300
308 Xt XI & X SO0l & 49,300 49,300 0
p] 49,300
01 RXSHAAEFS 49,300 49,300 0
Ostm % HAE X (SA) 49,300
y] 49,300
S % HAW XV (MYTs TRI)(2D)( 118,750 0 118,750
5E)
p] 83,125
= 35,625
307 212+0| & 118,750 0 118,750
p] 83,125
= 35,625
11 ABI =X A B X 118,750 0 118,750
Ostm % HAW XN (HYgAyLs Z2IY) 118,750
p] 83,125
= 35,625
AW SEXV(2D) 67,900 47,880 20,020
p] 67,900
308 XX CHAI S 0| & 67,900 47,880 20,020
p] 67,900
01 X SHBAE TS 67,900 47,880 20,020
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FH HdFEAEIF
HE: Ol & oY H(MIISX/0 - H3ad)
CYl: HAUES U NE BE (69l @
SN P SA(BH) - MBAY - BYS 01l &k o e SimE=E"
oFa~Y EEIA 67,900
J| 67,900
st g HAE WIIAHE X2 120,000 0 120,000
308 AUHXIEHSOIA 120,000 0 120,000
01 HXESHILAEXS 120,000 0 120,000
Ostw 8 A4 XIIAHYE X 120,000
FAadE SEEE I 20,000 0 20,000
308 UXIEHSOIA 20,000 0 20,000
O1 AIXSHBHEXS 20,000 0 20,000
OFa~Y SEEE X3 AU 20,000
Bad FEALE &3 2,821,390 5,497,000 A2,675,610
HAGUANLSS(HE)(HEAMY) 1,100,000 600,000 500,000
401 Al EHI L 20| 100,000 500,000 A400,000
01 AI&HI 100,000 500,000 A 400,000
OZAT HAUSER JsBL () 100,000
402 QIEXt=0l A 1,000,000 0 1,000, 000
03 212t &AL I 1,000,000 0 1,000,000
OZEE MAMBel =Y JIsEL(ME) 1,000,000
HAGANLSSHS(HSAMY) 1,663,390 4,812,000 A 3,148,610
403 XSS AH201H 1,663,390 4,812,000 A 3,148,610
01 "X EXMA2E = 1,663,390 4,812,000 A 3,148,610
OHALHANLEE(HE) 1,663,390
OFdANELEEZ JISEL 500,000
OLENELEN SR JISEL 849,630
Osdz EAdE 332 A7HE 185,760
Og4dz 28 FAH259E AHE 128,000
FAUANLES(EAEUSEANE JIsE22) 58,000 85,000 A 27,000
403 XSS K201 H 58,000 85,000 A 27,000
01 X EH A2 E = 58,000 85,000 A 27,000
OFLAESEALE JISEL 58,000
HY2HZH (HAEHAEINZ ) (IIEH/JIE 33,432 33,432 0
JlE3d i 33,432 33,432 0
fA29 Jl2Zl 33,432 33,432 0
201 24| 23,676 23,676 0
01 At 22l bl 23,676 23,676 0
ORA2YE MRl 23,676
202 4l 6,156 6,156 0
01 =LA I 6,156 6,156 0
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SMN: HAFAEINFY
M AMSHGH(HAEFHAEIINS ) (IIEH/DIE
el J2ZY| (ctel &
% = RE]
SN -FH -4 (3H) - HEMNY - BES Ol &F S8 agﬁ Hus2
OBRM2Y 22U 0 6,156
203 YR EXH| 3,600 3,600
04 EANSHARENY| 3,600 3,600
©209! 0|5t 300,000€ 122 3,600
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